Mixing Strong Acids & Bases

350mL
0.200 M NaOH

250mL
0.250 M HClI

What is the pH that results when 25.0 mL of
0.250 M HCl is mixed with 35.0 mL of 0.200 M
NaOH?

1) Write out reaction: \
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2) Mixing two solutions < this is a DILUTION!
Find [H;O"] and [OH']
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3) Determine how acidic or basic solution is by
finding EXCESS H;0" or OH
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4) Determine pH.
—0OM = | &
poh = |89

SR



How many moles of HCI(g) must be added to
40.0 mL of 0.180 M NaOH to produce a solution

that has a pH = 12.5007 Assume that there is no
change in volume when the HCl 1s added.
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